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GOODWILL : NON-ALLOCABLE GOODWILL

20

Volkswagen acquired B Price Consideration is ¥10,000.
BMW: Agreed Value/ i%ilgare-

Factory1 %4000 .-

v= Factory2 33000 v

Factory3 %1000 < Ck\\p

Goodwill ¥ 2000(10000-8000) -« /

After 3 years, Factory 1 has suffered natural calamity and impairment condition existed. Hence
impairment [oss to be assessed for Factory .Life of all factories is 6 years. Recoverable Amount of Factory
1is ~—and of business as a whole is ¥4500. -

l 348 [ Get the Best of FR By CA. Surthak Niraj Jain

Ind AS 36 - Impairment of Assets ' FAST -
ot tienyt cvccens Teierale)

Goodwillis Non- allocable (All factories manufacture cars) Each factory is an independent CGU.

Calculate Revised Carrying Amount and Impairment Loss. (A s.s «, o oddikm) deluionty
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[¢:3-'AN GOODWILL : ALLOCABLE GOODWILL
Find carrying amounts of assets after IL:
Particulars CGUA

CGUB cGuc
Carrying Amt = 30007 = 2000 — | 1000 —
Recoverable Amt(RA) 2500 ' o~ 2200 1100

v~ Goodwill is 1200/-. RA of business as a whole is 6000/-. Goodwill to be allocated on reasonable basis.
Impairment Indication in CGU A only.

Fwt e impairment Quade ‘go( GU with wpatrmeut-
indicakion (<. CGua

3‘521: CQU A

Pt *3

Ca 2000

L2 2A¥ 00

TL Svo CZ
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e CGU £ QuwoaMocakd U TL Jmeck in ol COU fo ustuichh@'D
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Cou e e e
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\d( GOODWILL : BUSINESS COMBINATION

.
Canex; N 2Roo
/ NCI measurement and Goodwill impairment Q ‘0\ g
AFLEj acquires Boﬁharei_gf a subsidiary B Ltd. for ¥ 3,200 thousand. At the date of acquisition, B Ltd.'s N
identifiable net assets is ¥ 3,000 thousand. A elects to measure NCI at proportionate share of net \N A
identifiable assets. It recognizes
Tin Ehousand Greo Qxoss Up 1000
Purchase Consideration PC 3,200 A —
NCI (3,000 X 20%) «— Pcvh 600 33—00
3,800
Less: Net Assets INR- (3,000) R& 28600
Goodwill Panfiol 800
At the end of next financial year, B Ltd.'s carrying amount is reduced tg < 2,700 thousand (e@ding 'I L — Q.("O %OO
goodwill).

Recoverable amount of B Ltd.'s assets is
Case (i) ¥ 2,000 thousand, Case (ii) ¥ 2,800 thousand

CalculateTmpairment loss allocable to Parent and NCl in both the cases. ﬂf\'\ oC C(}('_UY) D’h 1 L_.
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ICGU :BUSINESS COMBINATION
Parent acquires an 80% ownership_interest in Subsidiary for ¥ 2,100 on April 1, 20X1. At that date,

Subsidiary's net identifiable assets have a fair value of ¥ 1,500. Parent chooses to measure the non-

controlling interests as the proportionate in Interest of Subsidiary's net identifiable assets. The assets of

Subsidiary together are the llest group of assets that generate cash inflows that are largely

independent of the cash inflows from other assets or groups of assets. Because other cash-generating

xunits of Parent are expected to benefit from the synergies of the combination, the goodwill of ¥ 500

related to those synergies has been allocated to other cash-generating units within Parent. On March 31,
k20)(2, Parent determines that the recoverable amount of cash-generating unit Subsidiary is ¥ 1,000. The
_\‘?a ing amount of the net assets of Subsidiary, excluding goodwill, is ¥ 1,350, Allocate the impairment
P 31,20X2. e
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)/CORPORATE ASSETS : ALLOCATION OF IL

Q SSET
-
(),'b CORPORATE ASSETS : ALLOCATION OF IL
= I

Pacific Ocean Railway Ltd. has three Cash Generating units namely Train, Railway station and Railway
trach the carrying amounts of which as on March 31, 2020 are as follows

Earth Infra Ltd has two cash-generating units, X and Y. There is no goodwill within the units’ carrying
values. The carrying values of the CGUs are CGU A for X 20 million and CGU B for % 30 million. The

company has an office building which it is using as an office headquarter and has not been |ncluded in
the above values and can be alloc ing values. The office

’memmm_@gu_
building has a carrying value of ¥ 10 million. The recoverable amounts are based on value-in-use of ¥ 18

Cask Generating units Carrying amount Remaining useful life
R In crore)
Train 1,500 10
Railway station 2,250 20
Railway tracks 3,300 20

Pacific Ocean Railway Ltd. als_o has two Corporate Assets having a remaining useful life of 20 years.

million for CGU A and % 38 million for CGU B.

Required: Determine whether the carrying values of CGU A and B are impaired.

in crore)
Corporate Carrying Remarks
Assets
Iza_nd Mn@b“ 1,800 | The carrying amount of Land can be allocate a reasonable basis (i.e.,
T pro rata basis) to the individual cash-generating units.
Buildings olllcw"’ 600 | The carrying amount of Buildings cannot be allocated on a
N — | reasonable basis to the individual cash-generating units. ——

Se S Al
cou Q‘ﬂn{( tham 20 e
Asse  Cop-Pusers)

+ Covp~ Psset 4 c

Qu xzo/SDD

(10 X30/50)

Recoverable amount as on March 31 #2020 is as follows :

Cash Generating units Recoverable amount
Rin crore)

Train > 1,800

Railway station «~ 2,700

Railway tracks ¢~ 4,200

Company as a whole " /9,600

Calculate the impairment loss, if any. Ignore decimals. Pscame_

cndlc ation” exicts ol Cou,.

[Nov-2020, MTP-May-2022]
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